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Instructions :

1. The Question Paper is divided in five Units. Each unit carries an internal
choice.

2. Attempt one question from each Unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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g&E I (Unit D)
1. (31) oifRfen fowem =+ 3ok YN Wfeq IRwIfem it
(@) ARfEn fawn § fafew dod d € 2
(a) Define operating system with its types.
b) What are the different services in operating system ?

Jgar (Or)

2. (31) TERfT F1 T ? e &I
(F) rmfen famm & fafu= wes w9 § 27 SEEmul
(a) What is bootstrapping ? Explain.

b) What are the different components of operating system ? Explain.
g II (Unit II)
3. (31) fTrAfafea toniRes W gfya feoot fafew .

Write short notes on the following algorithm :
(D First Come-First Served (FCFS)
(2) Shortest Job First (SJF).

() TAfafe@ &1 CPU Rregfanm & uRwfva wifse .
Define the following in CPU Scheduling :
(1) Turn Around Time

(2) Waiting Time
AqAT (Or)
4. (31) YA oToen ST SRR 1 TART & §U URRa STorened i =amedn st |

() 9T M T ? HEIEU)
(a) Explain the process states by using process state transition diagram.

b) What is threads ? Explain.
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a3 III (Unit IID)

5. (1) <SSAH-TEa=HE H1 IR AE¥IgH UMW HiAE & ?
(@) fm™= =1 wRufvm wifEw .
(1)  HHEm®R

(2)  HeRIHR HIfHT |
(@) What are the four necessary conditions of deadlock-prevention ?
b) Define the following :

(D Semaphores

(2) Multicore Programming.

Agatr (Or)
6 (3 Zsdl® W AR wNTl Ssoed ¥ ohH ReeR w € 2

() R & Wi § = w1 aRwfm wifse

L =)

2  faa)
(@) Define Deadlock. How to recover from deadlocks ?
b) Define the following regarding semaphore :

(1) Wait()

(2) Signal()

3&E IV (Unit IV)

7. (1) g w1 F FwRO ¥ 72 fowm 9w w fFE YwR @ § 2
What is the cause of Thrashing ? How does the system detect

thrashing ?
() frfafea i fiomde toien W gfyw feooft fafew .
Write short notes on the following Page Replacement Algorithm :

(1) Least Recently Used Paging Replacement Algorithm (LRU)
(2) Most Recently Used Paging Replacement Algorithm (MRU)
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Jgar (Or)

8. (31) difSra w@ fRsiea 29 9 &1 994 Hifeg |
(q) H=rgs™ HARI TEChSM W1 UM it |

(a) Describe Logical and Physical Address Spaces.

b) Describe contiguous memory allocation.

HE V (Unit V)
9. (31) SR ® T ? SEE # AN wA ok fafg= aler F T2
(F) fe=r o9 # FYH TACkM W wigw feoef fafew)
(@) What is directory ? What are the different ways to implement a

directory ?

b) Write a short note on continuous allocation in disk space.
qAr (Or)

10. (31 Wifgw w Tfaw fafesn § @ adEud

(9) T H HAa fAHERORE # T ?
(a) Write the difference between static and dynamic linking.

b) What is kernel synchronization in Linux ?

4205 4



